www.prodex.pro

PRODEX

Melcome To



ABOUT PRODEX

Professor DEXO is the visionary founder of PRODEX, a dynamic company focused on empowering individuals through smart financial solutions. PRODEX specializes in crowdfunding and network marketing, offering innovative tools that help people plan, raise funds, and grow their income streams. With a mission to support communities and entrepreneurs, PRODEX is changing how people connect, collaborate, and succeed in the digital economy.



// Imagine

Prompt_

VISION

It is our Vision to bring some order and respectability to this industry by sharing our experiences and knowledge, as well as what works and what does not, so that the new entrant can have the best possible opportunity to make a success and build a profitable home business

MISSION

Our mission is to maximize the value of our clients derive from their most precious commodity, "Time"! By offering advanced and innovative services, optimal customer care and perpetual devotion to our clients, we will ensure that their individual needs are always met as markets continue to evolve over time.



Vision & Mission



Key Features

Accessible to All:

We believe financial empowerment should be accessible to everyone, regardless of background or experience. Join our community with ease, and embark on your financialjourney without any restrictions.

All-In-One Platform:

Explore a variety of income opportunities, all conveniently available on our unified platform. Manage multiple income channels effortlessly in one place, streamlining yourfinancial strategy.

Referral Rewards:

Introduce others to Prodex and earn enticing referral bonuses for each successful connection. Leverage your social circles to build a network that not only benefits you but also those you bring on board.





JOINING PACKAGE

° Q.

•]

35 JOINING







PLAN WORKING WITH

AUTO POOLL

SALARY INCOME

LEVEL INCOME

ADMIN

00

(REVERSE PULL ADMIN FEE



100

l.C

 $\bigcirc \circ$

20\$	
6\$	
3\$	
1\$	
5\$	
10%	



TYPES OF INCOME







Task Income By Level







REFERRAL	PERCENTAGE
1ST	10%
2ND	20%
3RD	30%
4TH	40%
5TH	50%

ONWARDS UNLIMITED DIRECT REFERRAL 50% AUTO FILL LEVEL 5THE TO ONWARD PLACEMENT LEFT TO RIGHT TOP TO BOTTOM

Ο

 \bigcirc

 $\overline{\mathbf{O}}$

www.prodex.pro

PRODEX

-O

INCOME

2\$	
4\$	
6\$	
8\$	
10\$	



LEVEL INCOME

RANK	DIRECT	TOTAL	TOTAL PAYOUT USDT	
LEVEL 1	4	2	2	
LEVEL 2	4 X 4	16	8	
LEVEL 3	16 X 4	64	32	
LEVEL 4	64 X 4	256	128	
LEVEL 5	256 X 4	1024	512	
LEVEL 6	1024 X 4	4096	2048	
LEVEL 7	4096 X 4	16384	8192	
LEVEL 8	16384 X 4	65536	32768	
LEVEL 9	65536 X 4	262144	131072	
LEVEL 10	262144 X 4	1048576	524288	
LEVEL 11	1048576 X 4	4194304	2097152	
LEVEL 12	4194304 X 4	1677721606	83886053	

WEEKLY TASK INCOME

PLAN WEEK INCOME

52 WEEK

\$2

www.prodex.pro

\$104



TASK INCOME BY LEVEL

SR.NO.	LEVEL	INC
1.	1ST	1
2.	2ND	
З.	3-6	•
4.	7-12	
5.	13-18	0
6.	19-27	C
	www.prode	x.pro





- OME %
- 12%
- **6%**
- 3%
- 1%
-).5%
- 0.1%



Terms & Conditions

Minimum 1 direct compulsory for Qualified next level income

Minimum withdrawal 10\$ Task income credited every next week Task will come Tuesday in every week



10% Admin fee on every withdrawal It's Will be distributed in autopooll task and rewards

Autopool

Minimum 4 direct activation for pool income withdrawal

Salary income 3\$ pr new I'd will be distributed after 5th rank equally to achiever's



Salary income will be automatically credited to 1st Tuesday of every month

Disclaimer : All rights reserved . www.prodex.pro











THANK YOU FOR YOUR ATTENTION

www.prodex.pro

